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����L��� (Rating Scale)
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�� 2 ���� �� ����� ������2
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����L��� (Rating Scale)
5 ����� ���������=�K��
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�
� �������*'��������'(�)�4��������� ��4�����@�� 
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������������#�������������������� (Index of Consistency : IOC)
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 IOC =     

�����  IOC  9�� @(�        ��#��������������
9�� @(� !����4������	=��L�4��!���#�� �#�S

N      9�� @(�      =�����!���#�� �#�S   

<��3����������*�� �5��4��<�����@���*����� 0.92 U(��!��*����L���	
�������� 
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������� ���� �����L:<��@��5���������2� ���4�����5��*�� 1 <��5��*�� 2  ��=������4����������
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�<����@	5	�
�����8=��
 SPSS for Window �������m��� *��3��=������	�����9: ���
�� ��*� ������Lu:�����2  (��S#�             
'�������. 25 35 : 100)

4.51 0 5.00 9�� @(� ��������	��98�"���������*�����
3.51 0 4.50 9�� @(� �������	��98�"���������
2.51 0 3.50 9�� @(� �������	��98�"������
������
1.51 0 2.50 9�� @(� �������	��98�"��������� 
1.00 0 1.50 9�� @(� �������	��98�"��������� *�����
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